

# KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINAL September 1999 Must Be Typed

## **WELL COMPLETION FORM**

### **WELL HISTORY - DESCRIPTION OF WELL & LEASE**

Operator: License #5120	API No. 15 - 115-21,359-00-00
Name: Range Oil Company, Inc.	County: Marion
Address: 125 N. Market, Suite 1120	
City/State/Zip: Wichita, KS 67202	660 feet from S (N)(circle one) Line of Section
MICIO	1650 (660) foot from (F) W. (single and Line of Section
Onerster Centest Barren John Washburn	PER Tuttut - Voc -Dic  Control of Section  Per Tuttut - Voc -Dic  Per Tuttut - Vo
Dhono: (316 \ 265-6231	
Contractor: Name: Summit Drilling Co.	(circle one) WE SE NW SW Lease Name: Klassen B Well #: 1
3/19/19	Field Name:
Nellsite Geologist: Tom Blair	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 1545' Kelly Bushing: 1555'
New Well Re-Entry Workover	Total Depth: 2882' Plug Back Total Depth:
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 293 Feet
	Amount of durage in the det and demented at
GasENHRSIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	
f Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated fromsx cmt.
Operator:	feet depth tosx cmt.
Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)  AUT I WHTHE
Original Comp. Date:Original Total Depth:	17-17-07
Deepening Re-perf Conv. to Enhr./SWD	
Plug BackPlug Back Total Depth	Dewatering method used evaporation
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Operator Name:
Other (SWD or Enhr.?) Docket No.	Lease Name: License No.:
8-10-06 8-16-06 9-27-06	Quarter Sec TwpS. R East West
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
,	County Docket No.
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of	h the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-3 and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regul- herein are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Och m Warthy -	KCC Office Use ONLY
Signature: 11. / Woharm	
Title: Vike President Date: 10-5-06	Letter of Confidentiality Received
Subscribed and sworn to before me this 5 H day of WOLDBO	1 If Denied, Yes Date:
2006 0 000	Wireline Log Received
Show. Insolan)	Geologist Report Received
Notary Public: TUGGY COLLEGE	UIC Distribution
Date Commission Expires: A NOTARY PUBLIC - State of Kansas	RECEIVED
PEGGY L. SAILOR My Appt. Exp. 12802	OCT 10 2000
	KCCWICHITA

perator Name:	Ran	ge Oil Compa	any, Inc.	Lease I	Name:	Klassen	В	Well #:1	<u> </u>	950
ec. 21 Twp. 19	S. R. <u>1</u>	✓ East	West	County:	:	Marion			CANS	
NSTRUCTIONS: Show ested, time tool open a emperature, fluid recover electric Wireline Logs s	and closed, flowing very, and flow rate	g and shut-in po s if gas to surfa	essures, wh ice test, alor	hether shi ng with fir	ut-in pre	ssure reached	static level, hydr	ostatic pressure	es, bottom h	ole
rill Stem Tests Taken (Attach Additional Sh	neets)	✓ Yes	□No		<b>√</b> Lo	og Formati	on (Top), Depth	and Datum	Sar	nple
amples Sent to Geolo	•	✓ Yes	□No		Name	e		Тор	Dat	um
ores Taken	<b>J</b>		_ ✓ No		Heeb	ner		2034'	-47	9
lectric Log Run		✓ Yes	No		Lans			2265'	· -71	0
(Submit Copy)					вкс	3		2628'	-10	73
st All E. Logs Run:						okee		2816'	-12	61
DST (1) 2812' t	o 2865' 30-	30-60-60	Rec: 212	יכ	Miss	issippian		2852'	-12	97
SOCM (8% oil)					LTD			2882'	-13	27
		Report all s	CASING RE		✓ Ne	w Used	tion, etc.			
Purpose of String	Size Hole	Size Cas	sing	Weig Lbs./	ght	Setting	Type of Cement	# Sacks	Type and	
Surface	12 1/4"		Set (In O.D.) Lbs 8 5/8" 2			293'	common	160	Additives 3% CaCl	
Production	7 7/8"	4 1/2	2"	10.	.5	2880'	Thick-set	185		
		AD	DITIONAL C	EMENTIN	NG / SQU	EEZE RECOR	)			
Purpose:  Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom			#Sacks	Used	Type and Percent Additives .				
Shots Per Foot	PERFORAT Specify	ON RECORD - Footage of Each	Bridge Plugs Interval Perfor	Set/Type rated			cture, Shot, Ceme mount and Kind of I		rd	Depth
4		2860' to 2864'				150 gallons (10% MCA)			28	360' to
					_	200 gallon	s (10% MCA)		28	364'
TUBING RECORD	Size	Set At		Packer A	At .	Liner Run	Yes N	o		
Date of First, Resumerd		Enhr. Pro	ducing Metho	od [	Flowing	Pump	ing 🔲 Gas I	_ift	ner (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls.	Gas M	1cf	Wate	er E	Bbls.	Gas-Oil Ratio		Gravity
Disposition of Gas	METHOD OF	COMPLETION				Production Inte	rval			
Vented Sold	Used on Lease mit ACO-18.)		Open Hole Other <i>(Specify</i>	Perf.	. <u></u> E	Dually Comp.	Commingled			

RECEIVED OCT 1 KCC WICHITA



#### **REMIT TO**

Consolidated Oil Well Services, Inc. Dept. 1228 Denver, CO 80256

MAIN OFFICE P.O. Box 884 Chanute, KS 66720

620/431-9210 • 1-800/467-8676 FAX 620/431-0012

Page

INVOICE

Invoice #

Invoice Date:

08/11/2006

Terms:

RANGE OIL CO. INC.

125 N. MARKET, SUITE 1120 WICHITA KS 67202

KLASSEN B #1 10506

08-10-06

OCT 0 5 2013

•		•	A		
Part	Number	Description	Qty	Unit Price	Total
11045	, ' ,	CLASS "A" CEMENT (SALE)	160.00	11.2500	1800.00
1102		CALCIUM CHLORIDE (50#)	450.00	.6400	288.00
1118A	<b>L</b>	S-5 GEL/ BENTONITE (50#)	300.00	.1400	42.00
1107	•	FLO-SEAL (25#)	50.00	1.8000	90.00
4132		CENTRALIZER 8 5/8"	2.00	60.0000	120.00
4432		8 5/8" WOODEN PLUG	1.00	70.0000	70.00
•	Description		Hours	Unit Price	Total
439	TON MILEAGE DE	LIVERY	413.60	1.05	434.28
463	CEMENT PUMP (S	1.00	620.00	620.00	
463	EQUIPMENT MILE	AGE (ONE WAY)	55.00	3.15	173.25

Parts:

2410.00 Freight:

.00 Tax:

151.83 AR

Labor:

.00 Misc:

.00 Total:

3789.36

3789.36

Sublt:

.00 Supplies:

.00 Change:

.00

Signed\_

BARTLESVILLE, OK P.O. Box 1453 74005 918/338-0808

EUREKA, KS 820 E. 7th 67045 620/583-7664

OTTAWA, KS 2631 So. Eisenhower Ave. 66067 785/242-4044 GILLETTE, WY

300 Enterprise Avenue 82716 307/686-4914

Date

THAYER, KS 8655 Dorn Road 66776 620/839-5269.



#### **REMIT TO**

Consolidated Oil Well Services, Inc. Dept. 1228 Denver, CO 80256

MAIN OFFICE P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676

FAX 620/431-0012

**INVOICE** 

Invoice #

208234

Invoice Date:

08/21/2006

Terms:

Page

1

RANGE OIL CO. INC.

125 N. MARKET, SUITE 1120 WICHITA KS 67202 )

KLASSEN B-1 10547 08-17-06

		•	1		
Part	Number	Description	Qty	Unit Price	Total
1131		60/40 POZ MIX	110.00	9.3500	1028.50
1118A	*	S-5 GEL/ BENTONITE (50#	380.00	.1400	53.20
1102		CALCIUM CHLORIDE (50#)	100.00	.6400	64.00
1110A		KOL SEAL (50# BAG)	450.00	.3600	162.00
1126A		THICK SET CEMENT	75.00	14.6500	1098.75
1110A		KOL SEAL (50# BAG)	300.00	.3600	108.00
1123		CITY WATER	3000.00	.0128	38.40
4226		INSERT FLOAT VALVE W/ A	F 1.00	140.0000	140.00
4129		CENTRALIZER 4 1/2"	4.00	36.0000	144.00
4310		MISC. EQUIPMENT	8.00	44.0000	352.00
4404		4 1/2" RUBBER PLUG	1.00	40.0000	40.00
	Description		Hours	Unit Price	Total
436	80 BBL VACUUM	TRUCK (CEMENT)	5.00		450.00
441	TON MILEAGE DE		243.37		255.54
445	CEMENT PUMP		1.00		800.00
445	EQUIPMENT MILE	AGE (ONE WAY)	55.00		173.25
479	TON MILEAGE DE		242 20		255.55
=		The second se			

AUG 28 2006

Parts:

3228.85 Freight:

.00 Tax:

203.42 AR

5366.61

Labor:

.00 Misc:

.00 Total:

5366.61

.00 Supplies:

.00 Change:

.00

Signed\_

Date.